
CS 211: Lab 09 Quiz Score: / 25, Name: NetID:
Closed Resource, 20 minutes, 1.43% of overall grade

Problem 1 (5 pts): The code to the right uses
an enumeration called Color. Write the output of
main() in the space below.

1 enum Color { Red, Yellow, Green }

2 public class ColorRun{

3 public static void main(String args[]){

4 Color c1 = Color.Green;

5 if(c1==Color.Green){

6 System.out.println("Green!");

7 }

8 if(c1.equals(Color.Green)){

9 System.out.println("Still Green!");

10 }

11 Color c2 = Color.Yellow;

12 if(c1 == c2){

13 System.out.println("The same!");

14 }

15 c2 = Color.Green;

16 if(c1.equals(c2)){

17 System.out.println("Now the same!");

18 }

19 }

20 }

Problem 2 (10 pts): Select the most appropriate java technique to address the problems described
below. Candidate techniques are interface, abstract class hierarchy, concrete class hierarchy,
enumeration, command line arguments, and exception.

Situation Answer
A customer wants to specify the name of a file a program should operate on when
starting the program.

A variety of classes must perform the operations output() and update(). All
of them should perform output() the same way but there is no default way to
update().

A variety of classes must perform the operations translate() and draw(). All
of them should perform translate() the same way. Most classes will draw()
themselves similarly with a few classes needing special drawing techniques.

A variety of classes must perform the operation transfer(connection) but oth-
erwise do not share any other operations or relation to each other.

A survey program will place users into one of four age categories (child, youth,
adult, senior). There will only ever be four such categories but a few functions
are required to convert a numeric age into one of the four instances.

Problem 3 (10 pts): On the back of this paper write a
class called CS. The main() method should operate as follows.

• Accept any number of command line arguments including
none.

• If any two adjacent arguments are the words “computer”
and “science” print the expression “My favorite subject!”
Only print this once.

• If the words “computer” and “science” do not appear ad-
jacent to each other print the expression “Not interested”
once.

Sample runs:

> javac CS.java

> java CS

Not interested

> java CS computer science

My favorite subject!

> java CS i use my computer for science

Not interested

> java CS cooking is like a science

Not interested

> java CS i am a computer science major

My favorite subject!

> java CS computer science computer science

My favorite subject!
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